
Blogged_computations
p < 0.001

1

≤ 55 > 55

Logins
p < 0.001

2

≤ 27 > 27

Logins
p < 0.001

3

≤ 11 > 11

Node 4 (n = 12)

0

1e+05

2e+05

3e+05

4e+05

Node 5 (n = 10)

0

1e+05

2e+05

3e+05

4e+05

Logins
p = 0.004

6

≤ 42 > 42

Node 7 (n = 9)

0

1e+05

2e+05

3e+05

4e+05

Node 8 (n = 18)

0

1e+05

2e+05

3e+05

4e+05

Logins
p < 0.001

9

≤ 77 > 77

Blogged_computations
p = 0.005

10

≤ 105 > 105

Node 11 (n = 41)

0

1e+05

2e+05

3e+05

4e+05

Node 12 (n = 22)

0

1e+05

2e+05

3e+05

4e+05

Node 13 (n = 52)

0

1e+05

2e+05

3e+05

4e+05


